o
[N

< o cot(y) >
o
[N
[¢)]

<0 @> (rad)
o
o [
[y [4)]

..........

-1 0 1 2 3 = 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

w

—=— DQM_mkFit_TT_baseR3_noSel_ok
—e— DQM_mkFit_TT_base_8iter_noSel_ok
—— DQM_mkFit_TT_Retrainv2_8iter_noSel_ok

100,

< 00, > (M)
<od, > (um)

.................

N
o

(RN AN LR RN LR RN RERN R
T—

o
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
=l
-
-
—
S
o

o—lOGE""'"""""""""""" o—lOOE""'""""'i""i""i"--
T 1sf = 15F -1 :
g 1.55—- ----- 3 4 | . g 3
‘] 15—' N’ !‘1F
! 0.5F
i : ; o : . : :
0 1 2 3 =3 -2 -1 0 1 2 3

TP n (PCA- to beamline) TP n (PCA to beamline)

<0 / > (Y
PP, > (70)
O = N W N O

..................

|
N
(ON R R R LR R RNl RRR R RRRRN LR AR R AR RARRN LRRL

-2 -1 0 12 3
TP n (PCA to beamline)



	Contents
	Page 1


